Lecture 12

Small Exercise 1

- If the maxima of a log-likelihood function 1(8|x) has been
found at the value 7, then the maxima of the likelihood
function L(8|X) is at the value

o _anlog( fy (X10))

log 7



Lecture 12

Small Exercise 2

e Consider having a sample space with only two possible
states {0,1}. You choose randomly 5 outcomes out of
that sample space and you get {0, 1, 0, O, 0}, What is
the corresponding likelihood function?

Bl 1(0/0,10,00)=6'(1-06)°
L(0]%) ={0,1,0,0,0}

L(6|x)=6'(1-6)*



Lecture 12

Small Exercise 3

* Which equation(s) correspond(s) to the
Method of Moments?

N 1:xlxz...xn (X Xg 1y X1 0) = H f, (x;6)
i1
m, = X1, 600 = EIX 1= 3
i=1
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